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Topic — Four Fundamental operations, Factors and Multiples
. Choose the right option

i) c

i) a
iii) c
iv) a
Case study
i) To find the greatest volume of tin we have to find HCF of (120, 180) litre.
And HCF will be 60 litres.
i) Factors of 120 are

1,2,3,4,5,6,8,10,12,15, 20, 24, 30,40,60,120
iii) LCM will be 360

For check, use formula.

Dividend=QxD +R

For 6, the number should be divisible by 2 and 3 both

To calculate the salary of 8 years, we have to multiply the eight
By 12. Then further it will be multiplied by given number.



